B mm
AR X Y 7 E VIR Fv bo_HEE
30Su (25M) % 60 43 0~3 V10 % 45 17
40Su (328 107 69 43 0~3 M10x 45 17
50Su (40A) 113 75 43 0~3 M10x 45 17
60Su (504 131 86 45 0~3 V10 % 45 17
755U (65A) 149 102 45 0~3 M10x 55 17
80Su (80A) 165 115 45 0~3 M10x 55 17
100Su (1004 205 147 50 0~6 M16x 73 24
125Su (125A) 239 176 50 0~6 M16x 73 24
150Su (1504) 263 204 50 0~6 M16x 73 24
ED Uy CKVAESET 209~ — 27 @mTY,
E2) EHARICOWTIFERCESR ST DY £,
Eites & om % 7 #H = = =
1| &E SCS14 2
2 | HrAY R i EPDM 1
3 FIL b SUS316 2
4 |+ b SUS316 2
5 | L MRIEERG ITFRbw— 2
5 N T TRERE (AIENR) i k@ﬂ—
Y2 by TYRTF L YaAf b _ SUS-TOP B | oAskl EA®
& 30 Su~150Su ” 1%
HIER | 2024E2 R 18 | AR | MR | 1ER
v—r—SBMRat |0 - |
R % 1 KR R .

(¥E&ES  N-E-SUSTOP-1)




